SEMESTER 1| EXAMINATION
GEOGRAPHY
H.C.G. Paper 2
Mexumom Marks 4f)

Timwe wliorwwid (e hoser
You will mot he allpwed to wrile during the first [0 minntes
Thein timiet i to by apwerd i reqsdliony the guestion pipes
ALL QUESTIOINS ARE COMPULSORY
Tiwe intended marks far guestions o parts of queitions are given in brackets [ ]
Sclect the carrect aption for cach af the follawing questions

Question 1.
Rafer 10 the imuge and answer the question thal follows (1]
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What do the black curved line in 3530 indicate”
i) Open Serub,

i) Dy land

(¢) Broken ground

{d) Seasonal stream

Amywer:
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What is the social significance of [durla”
(a)  Idaria w larger than ciher setilements,
by Idarls is closer o Dantrai.

(c)  Antal fair ai ldarin,

(d) Idaria is the largest senlement

Anvwer:
Chuestion 7.
Refer 1o the image and answer the question that follows
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What does the number 200 in grid square 4932 represent”
(a) A hne of lsttude.

it} A linc of longitude

(¢) Contour height

i) Spot height

Answer:
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What mode of transport is used by the people of Malawn and Dantra?

(a) Fool path
ib)  Cart ek
ic) Pack track

(d)  Railway

Answer:

Question 5,
Refer o the image and ansvwer the question that follows
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What is the main occupation of the people living in the arca shown on the eastern part?

1]

{a) Mining
(b) Agnculmre
{e) Forestry
id) Sheep rearing

ARwiEr:




..........

lllllllllllllllllll

I

Dok ,
What s the Wireetion of Dadrs from Doba?
(&) Noath cast
(h)  North west.
l (€) Seuth cam
! ) South wes
Answer:
Quiestion 3,
Refer o the image and answer the question that follawy i
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What is Tt in 48317
(a)  Relative height of 7 m
(b} Relative Height of 7cm
(e} Relutive depth of 7 om
(d)  Relative depth of 7 m
2 Anwwer
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land enclosed between 48 to 50 easting and 2K 10 3 northings?

() 0634 m.

(b) 06 sq. km

fe) 60y km

(d) GOsqm

Anvmer:

Question 9.

What does nearness of contour lines indicuie?
(a) It indicates steep slope.

(b) It indicates gentle slope.

fe) 1t indicates desert arca.

(d) M indicates irreular area.
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¢ method used 1o prevent ol erosion by wind.
Ploughing

Contour

) Stip cropping
(€}  Plugging of gullics
(d)  Use of fertilizer

Answer:

Question 18,
i) Name the soil that is found in central Deccan plaicau?

(a)
(b)
(c)
(d)

Answer:

Black soil
Alluvial soil
Red soil
Laterite soil

How is the soil named by you in {1) above formed?

(a)
(b)
ie)

Formed by the deposition of silt brought down by river.
Formed by the weathering of lateritic rocks.

Formed by the weathering of basic lava rocks
Formed by the weathering of metamorphic rocks:
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westerly depressions are active in India during which of the following months? i
@) Berween September and November
(b)  Between December and January
(€)  Between June and Seplember
(d) Between March and May
Answer:
Question 13,
Study the following duta and answer the questions that follow:
MONTH | JAN | FEB [MAR | APR [MAY | JUN [ JULY | AUG | SEF | OCT | NOV | DEC
TEMP{C) | 200 | 245 | 265 | 193 12 P REABEIREIREZEE -
RAIN(em) | 153 | 100 | as o 13 Y &1 2 | 108 | 200 | 168 | 190
4 L
(1) What is the annual range of iempernture experienced by the station? Iy
(a) 2W0°C
by 10°C
{c) 16°C
d) 21%C
Answer:
(i) Which according to the given data is the driest month? 1]
fa) March
(b) Apnl
e} May
(d) June
Anywer:
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Questian 19,
Why it Laserte soil use i G and Kerala for the consirucion of houses”
() It become hard when dey.
(0)  This sol is gemerally course i texpure und porones i nuase:
(©) Ithas more ol clay content in it
(d) It looks heautifiul when used in buildings

Amswer:

Qurstion 24,

Why are the foothills of Himalayas prone t excessive soil ension”
fa)  Absence of erop cover.

(b} Too much of development of transportation

fel  Lange scale deforestation in pasi.

(d)  Towarssas are spresding pollutants in rivers

Anvwer:

Question 21,
Mame the wo1] that poasesses Lhe following charactenstics
(i) Sesl is generally confined 1o rver basin

(a)  Hlack sl

th)  Alluvial soll

(e} Red wil

(d) Lsteryte soil

Antwer:

(i) Sodl thet becomes infertile hecause of desilcation.

{a) Black woil
) Alluvial sodl
{¢) Redsoll

{d) Laterite soil

Answer:
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Sandalwood - Tropical deciduous forest
i¢) Cinchona - Mountain forest
(dy Sal - Tidal forest

Anywer:

Puestion 24
-"ulrmlhr;-pmf?iﬂwnw:uuﬁnn:hﬂhrmulinlt:wiﬂnwdnhnfﬂ:wmm (1)

(a) Tropical Evergreen
(hy  Tropscal Decdunis

(€} Mangrove Fopest
(d) Mountain Forest

AW

Duestion 15,
Which of the following s NOT a charactenistic of desert vegetation” i

[a) Shor. stunted growth of vegetabon
ibj Thick fleshy sterns

(e) Broad leaves

{d) Long and deep mots

Amawer:
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Deuring which month do we celebrate VAN MAHOTSAV every year in India® I
()  In December o Februury time perind

{b) In July 10 September time peniod

()  In March to May time period

(d)  In November 1o January time perod

Answer:

‘lhhﬂlemundmd:mhlhquﬂrmhtﬂumnnhm"}'? 0]

(a) Reafforestation.
(b)  Deforestation.
{c) Agronomy.
(d) Afforestation.

Anvwer:

Question 29,
Why is there a noed 1o conserve water in India? i
(#) A lot of water is polluted

(b) No water is found below the land in India

fe)  Water is in sbundance in India

(d) We receive ot of rain in sumnies
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Question 38,
(8 Itis chesper than other sources.

(€)M can irmigate more arca with less usage of water,
() 1t s used by almost all farmens in India

Anywer:




are the advaniages of rain water harvesting”

Recharge of ground water and conservation of water

b) Provide water through canals to the farms and its conservation

{c) T helps in harvesting of crops and its storage

id) Fruﬂk“uu'fntnudhlnﬂﬂnﬂtmhmdlﬂ[ﬂmmm
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Question 31.

Why is canal (rrigation more popular in Northern Plains?

ia) The surfice of land is alinest Mot and soft soil iy casy o dig.
ib) Tosepply water to a number of cities in the plain ares

(¢} Rocky surfice of the plain help in their construction

(d) Rivers are seasonal and so canals are needed

Anvwer:

Question 31

Which of the following 1 comrectly matched”
{a) Tube well - Karmataka

b}  Tank = Punjab

(ch  Lined well - Ltnr Pradesh

{d) Canal - Mizoram

Angwer:

Queation 11,
Which of the following is NOT a suitsble condition for the development of tank irrigation?

(a) Presence of natural depressions
(b Permeable rock structure

fc) Plenty of rain in raiey period.
(d) Hianl subsurface rock structure
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Wh"“lﬂﬂﬂlﬁhnhm'
(8) Wi wway from the sca
) There ix no barrier in the path of rain bearing wind
(€ Iis due w Jet Sirenms
(d 1 is & ruin shudow ares af Western (ihats

Amvwmer:
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Why mmﬂmﬂmhmhﬁﬂulmmn scapon T

ib) Fﬂﬂllﬂhﬂﬁntﬂrwmﬁnmmmmmm:lﬂm|nﬁ_|,~_u
i€} Fatna s on eastern side, 50 Bay of Bengal branch brings more rain (o it than o Agrs
(d}  Patna pets rain throughout the vesr

Anvwers

Oluestian 16,

Whach of the ststerment 13 not cormect for Indian monsoon !
fm} I s crratic i nakare

(b) It 1s scasonal in nature

¢l Most of the rain is in winler Line

(d) Most of the min is orographic or rehefl type

Answer:

T22 502 51
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Question 10,
Which scale ot of the following. that is printed on the topographical map, is considerey , "
e !

(a)  Statement Scale

(c) Linear Seale.

(4] Graphical Scale
Answer

Question 11.
mmmmammhmm“mmum“
(1) Western disturbances :
Provide min 1o whyjch - I e

- ch of the following Seaiey? 1

(b)  Sikkim

€} West Bengal

(d)  Maharashirs

ABtwer;

() Whick of (he following cause rain 1o Coromandel Cpgg”?
(&) Retreating monsoans -
(b)  Kal Baisakhyi
(€} Western disturbances
(d}  South west Monsoony

Answer;




